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A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 50 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1. The following table records some
geomorphic concepts List I and
scholars List II.

The pairs of scholars and concepts
are listed below. Which one of them
is the correct set of pairs ?

List I

(Concepts)

(a) Antecedence of drainage

(b) Isostasy

(c) Law of declinity of slopes

(d) Uniformitarianism

List II

(Scholars)

(i) Airy

(ii) Gilbert

(iii) Hutton

(iv) Powell

Codes :

(a) (b) (c) (d)

(A) (iv) (i) (ii) (iii)

(B) (i) (ii) (iii) (iv)

(C) (iv) (i) (iii) (ii)

(D) (i) (iii) (ii) (iv)

1. Hkw#i'kkL=kP;k dkgh ladYiuk (;knh I) o
dkgh vH;kld (;knh II) [kkyhy lkjh.kh&
e/;s fnys vkgsr- vH;kld o ladYiuk ;kaP;k
tksMÓk iq<s fnysY;k vkgsr- R;kiSdh dks.kR;k
lapkrhy tksMÓk vpwd vkgsr \

;knh I

(ladYiuk)
(a) unh iz.kkyhps iwoZorhZRo
(b) leLFkk;hRo (vk;lksLVlh)
(c) ?kVR;k mrkjkapk fu;e
(d) fulxZ&l:irk (;qfuQkWehZVWjhvkfu÷e)

;knh II

(vH;kld)
(i) ,sjh
(ii) fxYcVZ
(iii) gVu
(iv) ikWosy
ladsr %

(a) (b) (c) (d)

(A) (iv) (i) (ii) (iii)

(B) (i) (ii) (iii) (iv)

(C) (iv) (i) (iii) (ii)

(D) (i) (iii) (ii) (iv)

Geography
Paper II

Hkwxksy
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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2. Which of the following major plates

has the longest proportion of

divergent boundary ?

(A) Africa

(B) North America

(C) Antarctica

(D) Pacific

3. Assertion (A) : Exogenetic forces

generally lead

to lowering of

the landmass

elevation.

Reason (R) : Exogenetic forces

operate over the

earth’s surface.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

2. [kkyhyiSdh dks.kR;k izeq[k HkwiV~VkP;k lhesr

vilkjh (Mk;Ogt±V) lhesps izek.k tkLrhr

tkLr vkgs \

(A) vk›hdk

(B) mŸkj vesfjdk

(C) vaVkfDZVdk

(D) iWflQhd

3. fo/kku (A) : cfgfufeZr cys lk/kkj.kr%

Hkw&Hkkxkph maph deh djrkr-

dkj.k (R) : cfgfufeZr cys Hkwi`"Bkoj

dk;Zjr vlrkr-

ladsrkad %

(A) nksUgh (A) o (R) cjk scj vkg sr

vkf.k (R) gs (A) ps ;ksX; Lif"Vdj.k

vkgs

(B) nksUgh (A) o (R) cjk scj vkg sr

ijarq (R) gs (A) ps ;ksX; Li"Vhdj.k

ukgh

(C) (A) cjkscj vkgs] ijarq (R) pwd vkgs

(D) (A) pwd vkgs] ijarq (R) cjkscj vkgs
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4. Which of the following geomorphic

processes is not a denundation

process ?

(A) Weathering

(B) Erosion

(C) Transportation

(D) Deposition

5. Which one of the following is

not a feature of glaciated land-

scape ?

(A) Esker

(B) Drumlin

(C) Roche Montane

(D) Erg

6. Which clouds cause ozone depletion

in stratosphere ?

(A) Cumulonimbus

(B) Lenticular

(C) Nacreous

(D) Stratocumulus

4. [kkyhyiSdh dks.krh Hkq#ih; izÿh;k vukPNknu

izÿh;k uOgs \

(A) vi{k;@fonkj.k

(B) vi{kj.k

(C) ogu

(D) lap;u

5. [kkyhyiSdh dks.krs Hkw#i fgeunhfufeZr

Hkqǹ';kpk Hkkx ukgh \

(A) dVd

(B) fgeks<fxjh

(C) es"k'khyk

(D) vxZ (Erg)

6. dks.krs <x fLFkrkacjke/khy vks>ksuP;k {k;kyk

dkj.khHkwr vlrkr \

(A) ,sj.kh es?k (D;qE;qyksfuacl)

(B) elqjkdkj (ysfUVD;qyj)

(C) eqDrkHkz (uWfÿvl)

(D) Lrjdik'khes?k (LV™WVksD;qE;qyl)
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7. Mie scattering in the atmosphere

occurs when :

(A) particle size is larger than wave-

length

(B) particle size and wavelength are

equal

(C) particle size is smaller than

wavelength

(D) the atmosphere is free of

particles

8. In general circulation of the

atmosphere the low latitude cell is

named as ........................... .

(A) Ferrel cell

(B) Polar front cell

(C) Hadley cell

(D) Rossby cell

9. The landform that acts as heat

engine and has direct relation with

Indian monsoon is ..................... .

(A) Himalayas

(B) Deccan Plateau

(C) Tibetan Plateau

(D) Aravalli Range

7. eh izdh.kZu (Mie Scattering) gs okrkoj.kkr

dsOgk ?kMrs \

(A) d.kkaps vkdkjeku rjax ykachis{kk tkLr

vlY;kl

(B) d.kkaps vkdkjeku rjax ykach brdsp

vlY;kl

(C) d.kkaps vkdkjeku rjax ykachis{kk deh

vlY;kl

(D) okrkoj.k d.kfojghr vlY;kl

8. okrkoj.kkP;k loZlkekU; vfHklj.kkr fuEu

v{kka'kkojhy dksf'kdkauk --------------------- vls

Eg.krkr-

(A) Qsjsy dksf'kdk

(B) /kwzoh; vk?kkMh dksf'kdk

(C) gWMyh dksf'kdk

(D) jkWLch dksf'kdk

9. [kkyhyiSdh dks.krs Hkq#i Hkkjrh; ekWUlquP;k

lanHkkZus ≈"ek la;a=kps dke djrs \

(A) fgeky;

(B) n[[kups iBkj

(C) frcsVps iBkj

(D) vjoyh jkaxk
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10. The colour of the sky is blue due

to ........................... .

(A) Selective scattering of solar

energy by the atmosphere

(B) Selective absorption of radiation

by the atmosphere

(C) Absorption of blue light by the

atmosphere

(D) Reflection of blue colour of the

ocean

11. Rio-Grande is .............................. .

(A) Oceanic Reef

(B) Oceanic Platform

(C) Oceanic Ridge

(D) Oceanic Trench

12. Depth limit of thermocline

is .......................... .

(A) upto 1000 metres

(B) 1000-1500 metres

(C) more than 1000 metres

(D) upto 2000 metres

10. vkdk'kkpk jax ---------------------- ;keq š fuˇk

vlrks-

(A) lkSj≈tsZps okrkoj.kk}kjs gks.kkjs fuoMd

izdh.kZu (LdWVjhax)

(B) fodhj.kkps (jWfM,'ku) okrkoj.kke/;s

gks.kkjs 'kks"k.k

(C) fuˇÓk izdk'kkps okrkoj.kk}kjs gks.kkjs

'kks"k.k

(D) lkxjkP;k fuˇÓk jaxkps ijkorZu

11. jhvks xz°Ms gh --------------------------- vkgs-

(A) egklkxjh fHkŸkhdk

(B) egklkxjh eap

(C) egklkxjh Mksaxjjkax

(D) egklkxjh xrkZ

12. lkxjhtykP;k vkSf".kd cnykph lhek fdrh

[kksyhi;±r vlrs \

(A) 1000 ehVji;±r

(B) 1000 rs 1500 ehVj njE;ku

(C) 1000 ehVjis{kk tkLr

(D) 2000 ehVji;±r
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13. The process of deposition in

horizon B of soil profile is known

as ....................... .

(A) illuviation

(B) eluviation

(C) elucidation

(D) elicitation

14. Geographical environment with

distinctive plant and animal life

adapted to climatic factors is

called ............................ .

(A) Bio-sphere

(B) Biochore

(C) Biotic

(D) Abiotic

15. The term used to describe damage

done to a public area such as

overfishing and environmental

damage to the open seas is known

as ............................... .

(A) tragedy of the commons

(B) overharvesting of the seas

(C) public plunder

(D) maximum profit

13. ènk Nsnkrhy ‘B’ Lrjke/;s (‘B’ gksjk;>u)

gks.kkÚ;k lap; izÿh;sl ---------------------

Eg.krkr-

(A) bY;wfOg,'ku

(B) ,Y;wfOg,'ku

(C) bY;qflMs'ku

(D) ,fyflVs'ku

14. T;k izns'kkr ouLirh o izk.khthou oSf'k"VÓiw.kZ&

fjR;k HkkSxksfyd i;kZoj.kk'kh vuqdwyhr >kys

vkgs R;kl ----------------------- Eg.krkr-

(A) thokoj.k

(B) tSoizns'k

(C) tSfod

(D) vtSfod

15. [kqY;k leqÊkr >kysyk i;kZoj.kh; Úgkl rlsp

vfrfjDr eklsekjh eq̌ s gks.kkjs uqdlku ;klkj[;k

lkoZtfud {ks=kr gks.kkÚ;k {krhl [kkyhyiSdh

dks.krh laKk okijrkr \

(A) lkeqfgd ekydhph 'kksdkaafrdk (VW™tsMh

vkWQ dkWeUl)

(B) lkxjh lalk/kukapk vrhokij

(C) lkoZtuhd ywVekj

(D) vf/kdre uQk
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16. Who among the following is

considered as the first scientific

geographer ?

(A) Ptolemy

(B) Eratosthenes

(C) Aristotle

(D) Strabo

17. The book entitled “Guide to

Geography” is authored by :

(A) Herodotus

(B) Hipparchus

(C) Posidonius

(D) Ptolemy

18. The term “topophilia” is coined

by :

(A) Yi-Fu-Tuan

(B) Richard Hartshorne

(C) Friedrich Ratzel

(D) Hagerstrand

19. The areal differentiation of earth’s

surface is also known as :

(A) Spatial differences

(B) Chorology

(C) Regional imbalance

(D) Regional disparity

16. [kkyhyiSdh dks.kkl ifgyk oSKkfud HkwxksyosŸkk

ekuys tkrs \

(A) VkWyseh

(B) bjWVksLFksul

(C) vWfjLVkWVy

(D) LVW™cks

17. ^xkbZM Vw ftvksxzkQh* ;k 'kh"kZdkP;k iqLrdkpk

ys[kd dks.k \

(A) fgjksMksVl

(B) fgIikdZl

(C) ikWflMksfuvl

(D) VkWyseh

18. ^VksiksfQyhvk* gh laKk ----------------------- ;kuh

r;kj dsyh-

(A) ;h&Qw&rqvku

(B) fjpMZ gkVZ'kksuZ

(C) ›sfM™d jWV~>sy

(D) gWxjLV™°M

19. i`FohP;k i`"BHkkxkP;k vfHk{ks=h; izHksnukl

(fMQju~fl,'ku) ------------------------- Eg.krkr-

(A) vfHk{ks=h; Qjd

(B) izns'kfoKku (dksjkWykWth)

(C) izknsf'kd vlarqyu

(D) izknsf'kd fHkUurk
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20. Which one of the following

concepts is explained by Vidal de la

Blache ?

(A) Landschaft

(B) Land Ecology

(C) Mathematical Geography

(D) Terrestrial Whole

21. Kraal is a ...............................

settlement.

(A) Clustered rural

(B) Clustered urban

(C) Dispersed rural

(D) Linear rural

22. Which one of the following is the

most important reason for

migration ?

(A) Environmental

(B) Political

(C) Economic

(D) Social

20. [kkyhyiSdh dks.kR;k ladYiusps Li"Vhdj.k

^fonky&ns&yk&Cyk'k* ;kauh dsys vkgs \

(A) y°M'kk∂V

(B) Hkw&ikfjfLFkrhdh

(C) xf.krh Hkwxksy

(D) HkkSfed lexzrk

21. ÿky gh ------------------------- izdkjph oLrh

vkgs-

(A) iwat xzkeh.k

(B) iwat ukxjh

(C) fc[kqjysyh xzkeh.k

(D) js"kh; xzkeh.k

22. [kkyhyiSdh LFkykarjkps lokZr egRokps dkj.k

dks.krs \

(A) i;kZoj.kh;

(B) jktdh;

(C) vkfFkZd

(D) lkekftd
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23. One of the critical issues in any study

of population density and the

capacity of a country to support its

people is :

(A) total land area of the country

(B) level of technology that country

has reached

(C) country’s geographic location

(D) total population of the country

24. Which one of the following pairs of

proponent and concept is

mismatched ?

Proponent Concept

(A) Jefferson Law of the

primate city

(B) Dickinson Concept of

city region

(C) Smails Concept of

urban field

(D) Murphy and Vance Urban

morphology

23. yksdla[;sph ?kurk vkf.k ,[kknÓk jk"V™kph

rsFkhy yksdkaP;k fuokZgkph {kerk ;k lanHkkZrhy

vH;klkpk dˇhpk eqÌk dks.krk \

(A) jk"V™kps ,dw.k {ks=Qˇ

(B) jk"V™kus izkIr dsysyk ra=Kkukpk Lrj

(C) jk"V™kps HkkSxksfyd LFkku

(D) jk"V™kph ,dw.k yksdla[;k

24. ladYiuk o R;kaps iz.ksrs ;kaP;k tksMÓkiSdh

dks.krh fotksM vkgs \

iz.ksrk ladYiuk

(A) tsQlZu µ vrwyuh; (izk;esV)

'kgjkpk fu;e

(B) fMfdUlu µ 'kgj izns'k ladYiuk

(C) LesYl µ ukxjh vfHk{ks=

ladYiuk

(D) eQhZ o OgUl µ ukxjh lajpuk
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25. [kkyhyiSdh dks.krh tksMh v;ksX; vkgs \

(A) FkkWElu vkf.k µ yksdla[;sP;k

uksVsLVkbZu laÿe.kkpk flºkar

(B) oscj µ fdeku [kphZ;

LFkku

(C) jsyh µ izkeq[; funsZ'kkad

(D) fÿLVyj µ dsaÊh;rk funsZ'kkad

26. vkf›dse/;s okjaokj gks.kkÚ;k vUunqHkhZyk

[kkyhyiSdh dks.krk ?kVd lokZf/kd tckcnkj

vlrks \

(A) œf"k mRiknukaps fuœ"V forj.k

(B) [kaMkrhy foLrh.kZ 'kq"d Hkweh

(C) foLrh.kZ {ks=koj vl.kkjh izrhdwy gokeku

fLFkrh

(D) o"kkZouka[kkyhy eksBs {ks=

27. ^MsOgyiesaV ftvksxzkQh* 'kh"kZd vlysY;k

iqLrdkpk ys[kd dks.k \

(A) gkWMj #iVZ

(B) fiV~>sy xsjkYM

(C) jksLVksOg okYVj

(D) ;h&Qw&rqvku

25. Which one of the following pairs is

mismatched ?

(A) Thomson and Demographic

Noteistein Transition

Theory

(B) Weber Least cost

location

(C) Reilly Primacy Index

(D) Christaller Index of

Centrality

26. Which factor contributes most to the

recurring food shortage in

Africa ?

(A) distribution of agricultural

products

(B) extensive drylands in the

continent

(C) unfavourable climatic condition

over extensive areas

(D) large areas of rainforests

27. Who is the author of the book

entitled ‘Development Geography’ ?

(A) Hoddar Rupert

(B) Pitzl Gerald

(C) Rostow Walter

(D) Yi-Fu-Tuan
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28. Which of the following statements

is incorrect regarding “Losch’s

Locational Model” ?

(A) Losch took into consideration

150 commodities and services

(B) The model is based on the study

of Bavaria Province of South

Germany

(C) Losch divided the thresholds

into the sectors of the rich and

the poor

(D) Losch’s model incorporates

other functions such as

manufacturing and industries

29. Which of the following is considered

“Footloose Industry” ?

(A) Industry affected by the labour

cost

(B) Industry found in predominantly

agricultural areas

(C) Industry not affected by

transport cost

(D) Industry affected by transport

cost

28. ykW'kP;k LFkkfudhdj.k izrhekuk lanHkkZus

[kkyhyiSdh dks.krs fo/kku pqdhps Bjsy \

(A) ykW'kus 150 oLrw o lsok fopkjkr

?ksrY;k

(B) rs izfreku nf{k.k teZuhrhy cosjhvk

izkarkP;k vH;klkoj vk/kkfjr vkgs

(C) v/k%lhekaph foHkkx.kh ykW'kus Jhear o

xjhc izHkkxkae/;s dsyh

(D) ykW'kP;k izfrekukr mRiknu vkf.k

mn~;ksxklkj[;k brj dk;k±pk lekos'k

gksrks

29. [kkyhyi Sdh d'kkl inHk z "V m|k sx

(Footloose Industry) letys tkbZy \

(A) etwj [kpkZpk ifj.kke gks.kkjs m|ksx

(B) izkeq[;kus œ"kh izns'kkr vk<ˇ.kkjs

m|ksx

(C) okgrwd [kpkZpk ifj.kke u gks.kkjs

m|ksx

(D) okgrwd [kpkZpk ifj.kke gks.kkjs m|ksx
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30. The production of metallic minerals

primarily depends upon the .......... .

(A) Distance to raw material

sources, the quality of the ores

and the availability of

hydroelectricity

(B) Quantity of the ores, the

richness of the ores and the

ability to refine the ores

(C) Quantity of the ores, the

richness of the ores and the

distance to the markets

(D) Richness of the ores, the

availability of hydroelectricity

and the distance to raw material

sources

31. India-Bangladesh boundary

is ...................... .

(A) Porous

(B) Positive

(C) Proform

(D) Prorupt

32. Geographer who contributed a lot to

the development of cultural

geography in USA was ............... .

(A) Carl O Sauer

(B) David Harvey

(C) R.J. Johnston

(D) Emrys Jones

30. /kkrw [kfutkaps mRiknu eq[;r% --------------

oj voyacwu vlrs-

(A) dPP;k ekykP;k Úksrkiklwups varj]

[kfutkaph foiwyrk vkf.k tyfon~;wrhph

miyC/krk

(B) [kfutkaph foiwyrk] [kfutkaph le`ºrk

vkf.k [kfut 'kqºhdj.kkph {kerk

(C) [kfutkaph foiwyrk] [kfutkaph le`ºrk

vkf.k cktkjisBsiklwups varj

(D) [kfutkaph le`ºrk] tyfon~;wrhph

miyC/krk vkf.k dPP;k ekykP;k

Úksrkiklwups varj

31. Hkkjr&ckaXykns'k lhesps Lo:i ---------------

vkgs-

(A) lfPNÊ

(B) ldkjkRed

(C) fo:i

(D) cgwHksfnr (nsrwj)

32. vesfjdsP;k la;qDr laLFkkuke/;s lkaLœfrd

HkwxksykP;k fodklkr eksBÓk izek.kkr ;ksxnku

ns.kkjk HkwxksyrK --------------------- -

(A) dkyZ vks- lk≈j

(B) MsohM gkosZ

(C) vkj-ts- tkWulu

(D) ,ezht tksUl
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33. Which of the following country is

having shintoism as its national

religion ?

(A) China

(B) Japan

(C) Thailand

(D) Singapore

34. Culture Realm is ........................ .

(A) the set of cultural regions

showing related cultural

complexes and landscapes

(B) areas of innovation from which

key culture elements diffused to

exert influence on surrounding

regions

(C) an area that is distinct from

surrounding areas with specific

characteristics

(D) the surface of the earth as

modified by human action with

a tangible physical

characteristics of a given

culture

33. ^'kharksb>e* gk /keZ [kkyhyiSdh dks.kR;k

ns'kkpk jk"V™h; /keZ vkgs \

(A) phu

(B) tiku

(C) Fkk;yaM

(D) flaxkiwj

34. laLœfr fo'o Eg.kts ----------------------- -

(A) lkaLœfrd ladwy o lkaLœfrd Hkwn`';

;krhy laca/k n'kZfo.kkÚ;k lkaLœfrd

izns'kkapk lap

(B) uoizorZu {ks= dh T;kiklwu ewyHkwr

lkaLœfrd eqY;s vkliklP;k {ks=kr

iljrkr

(C) fof'k"V x q.k/kek Ze qˇ s vkliklP;k

ifjljkiklwu fHkUu vlysys {ks=

(D) fof'k"V lkaLœrhP;k HkkSfrd xq.k/kekZps

ekuoh O;ogkjk}kjs Li'kZu gks≈u :ikarj

>kysys i`Fohojhy {ks=

http://www.studentbounty.com/
http://studentbounty.com/


16

DEC- 36213/II

35. A boundary line separating distinct

dialectical difference is termed as :

(A) isodiet

(B) isophone

(C) isoglass

(D) isochrone

36. Nodality underlines ...................... .

(A) Dependence

(B) Interdependence

(C) Independent

(D) Insulated

37. The portion of the Himalayas lying

in Himachal Pradesh is known

as ..................... .

(A) Himachal Himalayas

(B) Punjab Himalayas

(C) Western Himalayas

(D) Kumaun Himalayas

35. ck syhHk k" k srhy O;oPNsnd Qjdke qˇ s

foHkkx.kkÚ;k flekjs"ksl -------------------- Eg.krkr-

(A) le&vkgkjh (vk;lksMk,V)

(B) le&mPpkjh (vk;lksQksu)

(C) le&'kCnh (vk;lksXykl)

(D) ledkyhu (vk;lksÿksu)

36. 'k` axh;rk (uksMWfyVh) -----------------------

v/kksjsf[kr djrs-

(A) voyafcRo

(B) ijLijkoyacu

(C) LokoyafcRo

(D) fujksf/kRo

37. fgekpy izns'k jkT;kr foLrkjysY;k fgeky;kl

------------------------ vls Eg.krkr-

(A) fgekpy fgeky;

(B) iatkc fgeky;

(C) if'pe fgeky;

(D) dqek≈a fgeky;
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38. ............................ is carried out to

ensure the optimal utilization of

resource and distribution of human

activities in a region.

(A) regional development

(B) regional planning

(C) regional economy

(D) social planning

39. Which one of the following is not an

indicator for infrastructural

development ?

(A) Road and Transport

(B) Post Office

(C) Schools

(D) Literacy rate

38. ,[kk|k izns'kkr lalk/kukaps i;kZIr mi;kstu o

ekuoh O;ogkjk ap s vuqdwyre forj.k

lk/k.;klkBh dsY;k tk.k k Ú;k œfrl

---------------- Eg.krkr-

(A) izknsf'kd fodkl

(B) izknsf'kd fu;kstu

(C) izknsf'kd vFkZO;oLFkk

(D) lkekftd fu;kstu

39. [kkyhyiSdh dks.k ik;kHk wr lqfo/kk aP;k

fodklkpk funsZ'kd ukgh \

(A) jLrs o okgrwd

(B) Viky dk;kZy;

(C) 'kkˇk

(D) lk{kjrsps izek.k
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40. Which of the following indicator is

not used to determine country’s level

of development ?

(A) Per capita income

(B) Nutritional level

(C) Size in area

(D) Energy consumption

41. Arrange the following peaks in

descending order of their heights :

(a) Dodabetta

(b) Anaimudi

(c) Gurushikhar

(d) Mahendragiri

Choose the correct option given

below :

(A) (a) (b) (d) (c)

(B) (c) (a) (d) (b)

(C) (b) (a) (d) (c)

(D) (a) (d) (c) (b)

40. ns'kkP;k fodklLrjkps fu/kk Zj.k djrkuk

[kkyhyiSdh dks.kR;k funsZ'kdkpk mi;ksx

dsyk tkr ukgh \

(A) njMksbZ mRiUu

(B) iks"k.k Lrj

(C) {ks=kps vkdkjeku

(D) ≈tsZpk miHkksx

41. [kkyh fnysY;k f'k[kjkapk maphuqlkj ;ksX; mrjrk

ÿe dks.krk \

(a) nksMkcsV~Vk

(b) vukbZeqMh

(c) xq#f'k[kj

(d) egsUÊfxjh

;ksX; ÿe fuoMk %

(A) (a) (b) (d) (c)

(B) (c) (a) (d) (b)

(C) (b) (a) (d) (c)

(D) (a) (d) (c) (b)
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42. Which one of the following pairs of

Tribe and State is not correctly

matched ?

(A) Munda — Jharkhand

(B) Toda — Tamil Nadu

(C) Kinnaur — Uttarakhand

(D) Bhils — Rajasthan

43. Which one of the following pairs of

State and National Parks is

mismatched ?

(A) Gujarat — Bhagwan

Mahavir

(B) Madhya Pradesh — Madhav

(C) Uttarakhand — Rajaji

(D) Maharashtra — Sanjay

Gandhi

42. tekrh o jkT; ;k aP;k [kkyh fnysY;k

tksMÓkaiSdh v;ksX; tksMh dks.krh \

(A) eqaMk µ >kj[kaM

(B) rksMk µ rkfeˇukMw

(C) fdUuksj µ mŸkjk[kaM

(D) fHkYy µ jktLFkku

43. jkT; vkf.k jk"V™h; m|kus ;kaP;k [kkyh

fnysY;k tksMÓkaiSdh dks.krh tksMh v;ksX;

vkgs \

(A) xqtjkr µ Hkxoku egkohj

(B) e/; izns'k µ ek/ko

(C) mŸkjk[kaM µ jktkth

(D) egkjk"V™ µ lat; xka/kh
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44. ...................... State has the highest

percentage of its geographical area

under mountainous topography

(> 2000 mts.).

(A) Himachal Pradesh

(B) Sikkim

(C) Arunachal Pradesh

(D) Jammu and Kashmir

45. As per 2011 Census, which State

of India has recorded the highest

growth rate of population during

2001-2011 ?

(A) Arunachal Pradesh

(B) Meghalaya

(C) Kerala

(D) Uttar Pradesh

44. [kkyhy jkT;kiSdh dks.kR;k jkT;kr] R;kP;k

,dw.k HkkSxksfyd {ks=QˇkiSdh tkLrhr tkLr

VDds {ks= ioZre; (> 2000 eh) vkgs \

(A) fgekpy izns'k

(B) flDdhe

(C) v#.kkpy izns'k

(D) tEew vkf.k dk'ehj

45. 2011P;k tux.kusuqlkj] 2001 rs 2011 njE;ku

Hkkjrkrhy [kkyhyiSdh dks.kR;k jkT;kus

yksdla[;spk lokZf/kd o`fºnj uksanoyk \

(A) v#.kkpy izns'k

(B) es?kky;

(C) dsjˇ

(D) mŸkj izns'k
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46. Polygons are ........................... .

(A) Zero dimensional object

(B) Unidimensional object

(C) Bidimensional object

(D) Tridimensional object

47. Non-spatial data in GIS are referred

to as ......................... .

(A) attribute

(B) tables

(C) points

(D) layer

48. Data about ‘data’ are called

as ............................. .

(A) additional data

(B) metadata

(C) browsed data

(D) repeated data

46. cgqHkwtkœfr Eg.kts ----------------------- vkœfr-

(A) 'kwU;ferh;

(B) ,dferh;

(C) f}ferh;

(D) f=ferh;

47. th-vk;-,l~- e/;s ^v{ksf=; lkaf[;dhl* --

------------------------- Eg.krkr-

(A) xq.kfo'ks"k

(B) lkj.kh

(C) fcanq

(D) Lrj

48. lkaf[;dhP;k lkaf[;dhl -----------------------

Eg.krkr-

(A) vfrfjDr lkaf[;dh

(B) c`gn~ lkaf[;dh

(C) n`f"V{ksfir lkaf[;dh

(D) iqu#Dr lkaf[;dh
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49. For assessing food requirement of the

lowest 10 percent of population in

a region, which of the following class

type you will recommend ?

(A) equal interval

(B) equal membership

(C) natural break

(D) standard deviation

50. Which one of the following is India’s

“all weather” remote sensing

satellite ?

(A) Cartosat

(B) Edusat

(C) Risat—1

(D) Resourcesat

49. ,[kk|k izns'kkP;k yksdla[;srhy fuEure 10

VDds yk sdk aP;k vUuxjtsps ewY;ekiu

dj.;klkBh rqEgh [kkyhyiSdh dks.kR;k oxZ

izdkjkph fuoM djky \

(A) lekukarj oxZ

(B) lelnL; oxZ

(C) uSlfxZd [kaM oxZ

(D) izekf.kr fopyu oxZ

50. Hkkjrh; mixzgkaiSdh loZ Ωrwr dk;Zjr jkg.kkjk

mixzg dks.krh \

(A) dkVksZlWV

(B) ,T;qlWV

(C) jh&lWV&1

(D) fjlkslZ lWV
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